Math 1030, Quiz #3, Summer 2014 Name KEY

Instructions: Show all work. Use exact answers unless specifically asked to round. Reduce as much as
possible. Be sure to answer all parts of each question.

4x+y=11 s :
2x — 6y = 30 by substitution. State whether the system is

consistent or inconsistent, and if applicable, dependent or independent.
Y=-dx 4+
2% - b (-#x t11) =30

1. Solve the system of equations{
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Zx + PR - bb= 30 V= ‘—7—%
—bb = BO
2(0f+((:b ,fg(b
| el =
26x.= 6 X = 35 (%’:1%?)
26 2k - 3

3x+4y =20 . ool .
5x — 7y = 35 by using elimination by\addltlon. State whether

the system is consistent or incorisistent, and if applicable, dependent or independent.

2. Solve the system of equations {

21X+ 28y = (4o 520\ _1, - ’—}__&Q -S
20% =28y = 4o Go)-2y =35 l(‘n >"I;Tﬂ

4x=280 SER)-35 =Ty

257 - 7 :
2 — 1Y A
=3 2 T+
= -5
2x ~4y =6 \/ “t/

3. Solve the system of equations {—~4x +8y =22 by any method. State whether the system is

consistent or inconsistent, and if applicable, dependent or independent. If you use the graphing
method, sketch the graph obtained from the calculator in lieu of showing algebra work.

o
1x-8y=r "‘W -

©=34.
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